o

MEFE AJIKEAERR FESRIHR XH2OKUKEFEHER

T
K FKIR. B oH DO BOD COD Ss Cl KIGHE
;EJZ W4 |No.| Hus4 () (cm) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (CFU/100ml)
511e1 | 520e]| 45316 554ie]| A | 510 | 2lel | 45alel | salel| 50| sole) | (el | Hsare | P | 451 mzm\mm 40l | £ mlm\mm 53l | isagel| 42| 451080 folel| sl | alel| T4 | 1ie] | Gl ale] | alel| AL | A2 | H53ED | A5AR | SPRY | 1R 452 | H3E | A
BREGIEUE (AJEAY)  Faiust - - 6.5-8.5 75= <2 - =25 - =300
Bris S (BEEAY)  Nob,6 - - 6.5-8.5 5= =3 - =25 - =1000
BRETHELUE (CHR) Noll,12 - - 6.5-8.5 5= =5 - =50 - -
IEEEI 1| HJIRHE |16.4 28.4(20.9 9.4 [18.8 |50<| 49  50<| 21|73 |73 75|68 |72|7.0 57 4.9 7.0[62|25 26| 1.0 4.6 2.7 2 <1 <11 {9,000 2,300 2,200 12,000( 6,600 15 | 80 2,900 2
eI | 2 il 15.9 |28.8 [19.8 | 8.4 |18.2 | 50< | 45 | 50<| 19 | 7.1 | 7.5 7.7 |7.8|7.5|3.5 4.0 52 142|6.7| 1.3 | 1.6 | 0.9 | 4.6 | 2.1 2 <1 <1 <1 {8,400 1,500 1,500 11,000( 5,800| 18 8 12,200 1
NI 3| HEBAE  |15.1 28.6 [19.6 | 7.6 |17.7 | 50< | 50< 50<| 26 | 7.2 | 8.0 7.2 | 7.4 |7.5|47 7.1 56 15282 |1.4 |33 1.2 /52|28 4 <1 <1 <1{9,000 3,000 4,300 12,000 7,300 41 | 24 |7,200 1
4 = 16.9 |27.4 |24.5 |11.1 [20.0 | 50< | 50<| 50<| 50<| 7.6 | 7.3 7.1 | 8.0 | 7.5|56.2 2.7 35 55|42 |1.5|1.7|1.1 /28] 1.8 1 <1 | <1 <1 (5300 3,900|8,300| 7,800|6,800(8,800 650 | 95 |5,900
e 5 1HKKE  [15.2 [28.8 |21.0 | 8.6 |18.4 | 50< | 50<| 50<| 14 | 7.2 | 7.6 7.2 | 8.6 | 7.6 |40 50 4.6 133|6.7|1.7|19 1.0 4.0] 2.1 8 1 | <1 <1 (8800 3,300 5,200/ 12,000 7,500| 54 4 69 5
[ H N
6 | WEROHE  |17.1 28.8 |25.1 | 6.1 |19.3 | 50< | 50< | 50<| 50<| 7.6 | 7.7 7.6 | 7.3|7.6|6.5 4.1 | 3.7 10963 |1.5|0.9 08 [52]|2.1 <1 <1 | <11 [7,900 5,600 4,900 12,000| 7,700 330 | 46 | 66 | 11
) SeREI| 7| fEFE  |16.4 (278 249 | 7.9 [19.3 | 50< | 50<| 50<| 50<| 7.6 | 7.3 7.1 | 7.4 | 7.4 |54 3.1 26 5.6|4.2]08 |13 1.4 28] 1.6 <1 <1 | <1 <1 [6,600 4,900 9,500 8,700|7,700(2,300 310 | 74 5,200
1 8 EVE 166 [27.3 1246 11,0 |19.9 | 50< | 50<| 50<| 50<| 7.4 | 7.2 7.2 | 7.3 [ 7.2 |47 3.0 6.7 5.6 |5.0|1.0 |12 09 2.7 1.4 <117 | <1 <1 [7,700 | 6,900 10,000/ 9,300| 8,900| 290 | 480 | 44 | 5,700
SEZJ 9 | MG |17 279 (252 9.2 [19.9|50<| 24 34 | 50<|6.9 | 7.3 7.2 7.2|7.2[37 42 29 58 |42]1.9|31 09 16|19 <A <1 <19 [8800 7,900 9,500 9,500 8,900
EYI | 10| WEORE | 17.7 28.1|25.2 | 9.7 [20.2 | 50< | 50<| 50<| 50<| 7.1 | 7.1 7.4 | 7.1|7.2|36 45 38 59[45[24 1.7/06 16|16 <1 <1 | <1 15 |5,200 6,500 8,100 9,700 7,400
FEE)I | 11| KIGHE |17.3 27.3|25.7 11.9 [20.6 | 50< | 50<| 50<| 50<| 6.8 | 6.9 | 7.2 | 6.7 | 6.9 | 4.0 6.8 3.0 58|49 3.1 /20|22 1.6]22 3 019 |1 | 9 |5800 5,000 7,600]11,000| 7,500
FE) 12| B57EKE  |17.9 128.3 255 103 [20.5 | 46 | 50<| 50<| 50<| 8.0 | 7.6 7.5 | 7.2 | 7.5 |57 4.5 47 7.4 |56 |2.0[0.9 09 15|13 8 <1 2 |15 {1,300 2,300 4,600 7,700 | 4,000
EEIRESTE 166 281 (23593 - | - | - | - | - |73|74 73|74| - |48 /46|43 91| - |1.8]18 1.1 32| - - - | - - ]7,000 4,400 6,400 10,000 - - - - -
SEAE 19.4 - 7.4 5.5 2.0 - - 7,100 -
ARRE e RAE 28.8 50 < 8.6 15.2 5.2 - 19 12,000 8,800
Fc/IMiE 6.1 14 6.7 2.6 0.6 = <1 1,300 1
BREGILYE (CHTY) - - 7.0-8.3 2= - =8 - - -
HOMTIER] | 13 | 220 KAE|17.9 274 |22.3 110.7|19.6 | 50<| 37 | 40 | 50<| 7.3 | 7.8 | 7.3 | 8.1 | 7.6 | 4.8 82| 1.1 7.7|55 6.5 7.4 72 42]63|<1 5 | <1  <1|7600 6,400 6,400 13,000/ 8,400
TREEN | 14| BRERE  |17.5 27.2 216 117|195 | 50<| 40 | 50<| 50<| 7.3 | 7.6 | 7.3 | 8.4 | 7.6 | 4.8 7.7 |35 7.9]6.0 49|62 4.0 (28|45 | <1 5 | <l | <1]9,600 8100] 10,000 17,000{11,000
| AWAVEENT | 15 | OFF4E |16.8 265 (215 10.9 [18.9 | 50<| 45 | 50<| 50<| 7.2 | 7.8 7.1 | 8.3 | 7.6 [ 6.6 | 5.8 | 4.5 7.9]6.3 3746 35|26 [36|<1 |3 |2 | <1]12000 9,200/ 10,000 17,000/ 12,000
‘g FGIRESTE 174 270218 (111 | - | - | - | - | - |73|78 72|83| - |55 73|31 79| - 5.0 (6.1 49 32| - | - 4 |1 1 [10,000 7,900 9,300 16,000 -
i)
S iE 19.3 = 7.6 5.9 = 48 2 10,000 =
ARRE e RAE 27.4 50 < 8.4 8.2 - 7.4 5 17,000 -
Fe/ M 10.7 37 71 1.1 - 2.6 <1 6,400 =
XCl— A A A PREE) 13 DO FHEE ) AN ALBYE) NEARKEIER OFE BTN,

[ msesrerisn

EBITTBNEFEL TND T | I HAFHTUFR 2 & UGl L 72,




THSFE MIDKERERRE FERER XKH29KUKEHERES

K KR B oH DO BOD COD SS Cl % RIS EE
p W4 [No.|  HiS4 (0 (cm) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (CFU/100ml)
HLIE] 2| 3| | %ﬂj%z@ 30| S5l | 551 | 520m] | 45310 | H5410 | SEHs | H510E]| F520E | F530E | sEalmE | S %1@{%2@ 30| Al | L | 51| g52lml | 5531m] | G54lml | SEHs | H510El %zlilj%ﬁalil A SER| 51l | em | 53 } sam | LR | e Homl | 3l |
BREGHAE (M) Faisish - - 6.5-8.5 75= =2 - =25 - <300
BRETALYE (BE) Nob,6 - - 6.5-8.5 5= =3 - =25 - <1000
BREGIEVE (CHAY) Noll,12 - - 6.5-8.5 5= =5 - <50 - -
[ 1] 1| HJIKAE |18.0 28.7 22.3 | 8.7 [19.4 | 50<| 50<| 50<| 48 | 7.3 | 7.4 | 7.3 | 8.6 | 7.6 |6.7 6.7 4.8 7.0|6.3]2.0 23 09 |43]|23 1 | <1/ <1|4 |1 |10000]2700] 5500 15,000|8,400| 23 | 56 | 67 | 45
e+ | 2 e 18.8 [30.2 123.1 | 8.0 |20.0 | 50<| 50<| 50< 41 [7.3 |7.4 |73 85|7.6|54 42 38 149[7.1|1.8 /0.9 0.8 |43]1.9 3 | <1|<1| 4 | 1 [8,700] 2,400| 5,200 14,000 7,700 15 | 14 = 18 | 13
g A 3 HEPHKE 185 1306 (22.4 | 8.5 [20.0 | 50<| 50<| 50<| 50<| 7.6 | 8.0 | 7.7 [8.9 8.0 | 7.4 8.8 5.6 9.0 |7.7]1.9/3.0/091.8]1.9 <1/ <1|<1|1 |1 [9800] 3,000 62900 15000| 8,700 9 6 28 | 53
4 = 18.2 [26.5 |24.1 |10.8 |19.9 | 50<| 50<| 50<| 50<| 7.2 | 7.4 | 7.3 | 7.1 | 7.3 [5.6 4.7 29 6.5 49|13 1.7|1.7[0.7 1.4 <11 |<1|{<1]|1 - 16,600 6,300 13,000 6,400| 150 | 110 192,000| 54
e 5 JE/KHE  [18.1 [29.6 22.4 | 8.9 |19.8 | 50<| 50<| 50< | 50<| 7.5 | 7.6 | 7.1 | 8.6 |7.7|6.1 59 45 9.0 64|13 1608|1513 2 | 3 | <1| 4 | 2 [10,000]3,800| 6,900]14,000{9,000{ 17 | 38 | 46 5
6 HEADKE 183 127.3 (24.2 [12.5 [20.6 | 50<| 50<| 50<| 50<| 7.3 | 7.2 |75 |7.6|7.4 |49 40 39 78|52|12|1.7/08 0.7]|1.1 <1|<1|<1/<1|1 - 5,800 10,000/ 16,000 10,0001 74 | 43 | 34 | 30
i S| 7 f@FFHE  [17.6 [26.1 23.8 |11.5 |19.8 | 50<| 50<| 50<| 50<| 7.2 | 7.5 | 7.4 |8.2|7.6 |54 44 33 6.0 [48|1.0 1.4 |1.7[0.7]1.2 <15 | <1]/<1]2 - 117,500 5,700 15,000 9,400 72 | 55 83,000/ 14
I 8 HUMAE  [18.3 [26.3 24.0 |10.4 |19.8 | 50<| 50<| 50< 50<|7.0 | 7.5 7.1 757352 39 29 694710 1.0 1.4|08] 1.1 <11 | <1|<1|1 - 17,800/ 7,500 13,000{ 9,700| 44 | 59 41,000/ 59
SEA 9 BB HE  [18.8 [27.9 122.0 107 |19.9 | 50<| 50<| 50<| 50<| 7.6 | 7.4 | 7.6 | 7.5|7.5|6.1 3.4 22 6.9 47|08 1.2]0.9]0.8]0.9 <1/ 1 |0 | <1|1 |7,300 6,600 6,700]13,000| 8,400
L&Y | 10 WEORG  |18.8 [27.7 |22.4 110.9 [20.0 | 50<| 50<| 50<| 50<| 7.2 7.5 | 7.8 6.7 (73|42 53 1.8 6.9 |4.6|08 13|08 09]1.0 <l|<1|<1/<1| 1 |6,600|4,900]13,000|13,000| 9,500
)1 11| KUK [18.5 27.8 22.4 [12.1 20.2 | 50<| 50<| 50<| 50<| 7.5 | 7.6 | 7.4 | 6.9 73|65 44 1.7 72[50|15 23 21[1.2]18 <1/ <1|<1|<1|1 [5500] 3,600 9,100 14,000| 8,100
bl 12| F5VEFS  [20.4 28.7 21.4 [11.6 [20.5 | 50<| 35 | 50<| 50<|7.5 7.8 7.9 7.3|7.6[103 7.6 39 7974|2053 09]0.9]23 4 |8 | 2 | <1| 3 |3,400] 1,500 6,700 13,000| 6,400
2 B P i 18.5 281229 104 - | - | - - | - |73/75/74,78]| - |61 /53 34 86| - (14,20 ]1.1][16]| - 1 2 |1 |1 |- ]7700] 4,700 7,500|13,000] - i - | -
EEIE 20.0 = 1.5 5.7 1.5 = 1 8,500 =
R HRRAE 30.6 50 < 8.9 14.9 5.3 - 8 16,000 92,000
Fe/IMiE 8.0 35 6.7 1.7 0.7 = <A1 1,500 5
PRl HEYE (CEA) - - 7.0-8.3 2= - =8 - - -
RYMTIER] | 13 | 2D KA |20.2 28.1 |23.2 [14.3 [21.5 | 50<| 44 | 50<| 50<| 7.9 8.2 7.9 |7.5[7.9|8.1 7.6 3.6 36|58 58 7.4 5.1 53(59| 1 | 3 | <1|<1|1 |9,300]5,900 9,100 10,000 8,600
HEE N | 14 WER  |18.9 27.8 22,9 [12.5 [20.5 | 50<| 43 | 50<| 50<| 7.9 | 7.8 | 7.7 |7.9|7.8|88 | 7.4  3.7|3.7]6.0 50 7.0 46 25|48 2 | 3 | <1, <1| 1 |12,000 7,600 12,000 16,000|12,000
| AWIEEN | 15 | OEZME |18.9 272 223 12,5 [20.2 | 50<| 26 | 50< 50<|8.2 8.7 7.3 |8.2[8.1[106 9.7 4.0 4.0|7.1 45063 33 23|41|2 |6 | <1 <1| 2 [12000 10,000 12,000 16,000|13,000
Y’ﬂ? EIEREST 19.3 277 (228 (131 | - | - | - | - | - |80 /82/76|79| - |92/83 38 38| - 51,69 43 34| - |1 |4 |1 |1 - |11,000| 7,800/ 11,000| 14,000| -
17}
% S 20.7 = 7.9 6.2 = 4.9 2 11,000 =
i 4 e KAE 28.1 50 < 8.7 10.6 = 14 6 16,000 =
fie/IME 12.5 26 7.3 3.6 = 2.3 1 5,900 -
XCl— (A A A PR D) 1T D B0 R () AN AUE TN NZK B OFE 132003,

]

P

%
CBRBEIEEAR A
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EHIZRMUINEHEL TD 728 I HAKETRE Y LU CRFATL 72,




THAEE MAIKERERR FERER XH29LYKBHEREE

K KR FERE oH DO BOD COD N Cl % KIGH %
p W4 [No.|  HiS4 (0 (cm) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (CFU/100ml)
HLIE] 2| 3| | %ﬂj%z@ 30| S5l | 551 | 520m] | 45310 | H5410 | SEHs | H510E]| F520E | F530E | sEalmE | S %1@{%2@ 30| Al | L | 51| g52lml | 5531m] | G54lml | SEHs | H510El %zlilj%ﬁalil A SER| 51l | em | 53 } sam | LR | e Homl | 3l |
BREGHAE (M) Faisish - - 6.5-8.5 75= =2 - =25 - <300
BRETALYE (BE) Nob,6 - - 6.5-8.5 5= =3 - =25 - <1000
BREGIEVE (CHAY) Noll,12 - - 6.5-8.5 5= =5 - <50 - -
k] 1| FJINKHE [15.9 272 201 | 7.6 |17.7 [50<|50< | 50< 50<| 6.9 | 7.2 | 7.1 | 7.4 | 7.1 6.5 4.0 48 9.4 |62 |17 1.2 14|13 |1.4 <1|<1|<1|/<1|1 |8,700] 7,600 4,600 13,000{8,600| <20 | 22 = 130 | 43
I | 2 Bit 17.8 128.3 [18.5 | 8.0 |18.2 [50< | 50< 50< 50<| 6.8 | 7.2 | 7.2 | 7.4 [7.1|6.7 3.4 46 82|57 |15 1.4 07 |1.1|1.2 <1[<1|<1|/<1| 1 |8500 6,800 3,900|13,000{8,200( 21 | 24 | 81 | 370
A 3 AEBAMG  [17.8 269 [17.8 | 8.7 [17.8 | 50<|50<|50< 50<| 7.1 7.2 | 7.2 |7.3|72|6.2 3.9 5.1 8.6|57|1.4/1.0|05 0.9 1.0 <1|<1|<1|/<1|1 |8,600] 8,100 4,400 13,000{8,700{ 99 | <20 72 | 19
4 i 15.9 126.3 [22.1 |11.9 |19.1 [50< | 50< 50< 50<| 6.9 | 7.3 | 7.3 | 7.1 [ 7.1 | 4.2 3.3 2.1 6.4 |4.1 |25 2.6 49 | <05 2.6 <1|<1|3 | <1| 1 |5200) 6,700 5,600 14,000| 5,800(12,000 3,400 180,000 200
B 5 WEKAE  [16.9 27.1 19.3 | 8.4 |17.9 |50<|50< | 50< 50<|7.2 | 7.2 | 7.3 | 7.4 |73 |48 43 50 80 |56|25 1.1/08|08]|1.3 7 <1/ 1 |3 |3 [8500 7,500 5,300 13,000]8,700| 40 | 21 | 96 | 53
H. 3 -
6 HEWDHE  |15.6 |26.8 [22.0 |10.6 |18.8 | 50< | 50< | 50< 50<| 6.6 ' 7.2 | 7.0 7.0 | 7.0 | 3.4 2.8 42 6.2|42|21 /1.0 08 05 |1.1 <1|<1|<1|/<1| 1 |8,100]8,400 6,600 14,000(9,300{ 530 | 65 = 350 | 29
o) el 7 fEFEAE (155 2601 21.3 [10.1 |18.3 [50<|50<| 50< | 50<| 6.7 | 7.2 | 7.1 | 6.9 | 7.0 | 4.0 3.7 3.7 6.6 |4.5|2.0 2.1 2.6 | <05/ 1.8 <1|3 | <1/ <1| 1 |6,300 7,500 6,100 13,000|8,400|8,600 2,700 58,000 57
) 8 HAME  [15.9 265 21.4 | 9.6 |18.4 |50<|50< 50< | 50<| 6.9 7.3 | 7.0 | 7.2 |7.1|3.6 26 33 6.7 |41]|16 1.6 09 <05 1.1 <1|<1|<1|/<1| 1 |8,200) 8,100 8,400 14,000(9,700{6,000 840 490 | 42
AN 9 G [17.5 265 195 [10.9 |18.6 [ 50<| 50<| 50< 50<| 7.2 | 7.1 | 6.9 | 7.4 | 7.1 |42 3.3 2.8 6.8 |4.3]0.7 1.0 1.3|0.7/0.9 <1|<1|<1|<1]| 1 |10,000 4,300  6,300]12,000| 8,300
&)1 | 10 | #E04%  [18.2 27.0 19.4 [10.5 |18.8 | 30 | 50< 50< 50<| 6.9 | 7.0 | 6.9 | 7.4[7.0(38 3.1 3.1 6843|0723 1.2|06]1.2 14 | <1| <1/ <1| 4 |9900 4,100 6,100]13,000| 8,400
FEEJI |11 A [18.6 [26.2 205 124 |19.4 |50< 50< 50< 50<|6.8 | 7.3 |6.6 7.2|7.0|3.3 2.8 29 6.5|4.0[1.2|24 140714 1 |1 | <1 <1|1 |[8,400|2,700 10,000 13,000| 8,800
FE)ll 12| BVERE  [17.0 266 [19.0 |11.4 |18.5 | 46 |50< 45 47 |7.2 /7.3 6.9 | 7.4 |7.2|6.8 |44 52 7.7|6.1 |19 <05 06]09]1.0 10 3 |10 | 3 | 7 |5600 1,500 4,600]14,000| 6,600
A [P fiE 16.9 1268 20.1 [10.0 | - | - | - | - | - |69 7.2 7.0 73| - |47 35 39 73| - |17 |15 1407 - 3 |1 2 1 | - [8000]6,100 6,000 13,000 - - - - | -
EEIE 18.4 = 7.1 4.8 1.3 = 2 8,300 =
R HRRAE 28.3 50 < 1.4 9.4 4.9 - 14 14,000 180,000
Fe/IMiE 7.6 30 6.6 2.1 <0.5 = <1 1,500 19
B b JEYE (CHEAY) - - .0-8.3 2= - =8 - - -
ROMTYE] | 13 | 2D KAE [17.4 25.6 209 [12.8 [19.2 | 19 | 28 [50<|50<|7.3 | 7.7 |7.1|7.6|74(59 07 4.4 |7.1|46 9.0 7452 48|66 6 | 4 | <1|<1| 3 [8,100| 5,300 7,700 14,000| 8,800
BEGEW | 14| HER  [16.3 259 20.8 124 [18.9 [50<| 37 [50< 50<|7.3 7.2 7.0 |7.2|7.1|6.0 1.1 3.9 7.7|47 5.0 | 6.8 4.1 20|45 |<1|5 | <1 <1| 2 [11,000 5,300 11,000 17,000|11,000
| AWIVEEN | 16 | OZ 4 |156 25.0 204 12,5 |18.4 | 50< | 50< 50< 50<|7.8 7.2 7.5|7.6|7.5|68 29 44 7.5 5.4 36 48 21 18[3.1[<1| 3 | <1 <I| 1 [14,000]7,800 14,000 16,000)13,000
j’ﬂ} ESERESLTN 16.4 25,5 (207 [12.6 | - | - | - | - | - |75 /73 72|74| - |63 1.6 43|75]| - 663 38 29| - |2 4 1 1 - |11,000] 6,100 11,000/ 15,000 ~
17}
% FEHE 18.8 — 1.4 4.9 - 4.1 2 11,000 -
i 4 e KAE 25.9 50 < 7.8 1.7 = 9.0 6 17,000 =
fie/IME 12.4 19 7.0 0.7 = 1.8 <1 5,300 =
¥Cl— (A A A PR EE) 1T D DD B () AN AUEIEN TR OFE 13003,

[ mssierue

EHIZRMUINEHEL TD 728 T AKETRE Y LU CRFATL 72,




THIEFE MAIKERERR FERER XH29LYKBHEREE

K KR B oH DO BOD COD SS Cl % NI
w | TIA [N HuiA ©) (cm) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (MPN/100ml)
HLIE] 2| 3| | %ﬂj%z@ 30| S5l | 551 | 520m] | 45310 | H5410 | SEHs | H510E]| F520E | F530E | sEalmE | S %1@{%2@ 30| Al | L | 51| g52lml | 5531m] | G54lml | SEHs | H510El %zlilj%ﬁalil A SER| 51l | em | 53 } sam | LR | e Homl | 3l |
BREGHAE (M) Faisish - - 6.5-8.5 75= =2 - =25 - <1000
BRETALYE (BE) Nob,6 - - 6.5-8.5 5= =3 - =25 - <5000
BREGIEVE (CHAY) Noll,12 - - 6.5-8.5 5= =5 - <50 - -
R 1| HJIKAE |16.7 275 24.1 | 8.3 [19.2 [50<|50<|50< 50<| 7.1 | 7.5 7.2 |7.2|73[56 7.0 47 8.1 |64 |13 30 141017 <1|2 | <1/<1|1 |9,800 4,900 5,600 10,000 7,600 14 |1,100 1,700 79
I | 2 Bit 17.8 [28.1 125.2 | 5.9 |19.3 | 50<|50< 50< 50<|7.7 | 7.6 | 7.2 |7.3|7.4 |71 54 44 81|63 |14 08 1.0/|1.1]11 1 [ <1|/<1 <1|1 |8900] 4,700 5,500|9,300|7,100| 7 70 | 490 | 490
A 3 HEPHKE 174 275 243 | 6.0 [18.8 | 50< | 50<|50< 50<|7.5 7.5 | 7.2 |7.5|7.4 |55 5.6 5.1 88[6.3|1.0 | 1.7[1.11.2]1.2 <1|<1|<1|<1]| 1 |11,0005,000] 6,100|12,000|8,800| 130 |3,300 280 | 330
4 =i 18.1 [26.2 122.5 | 8.9 |18.9 | 50<| 50< | 50< 50<|7.3 | 7.1 | 7.3|7.6|7.3|4.6 2.9 3.0 63 |42|1.1 1.9 <05 1.0]1.1 <1|2 | <1/ <1| 1 |9,700] 2,400| 5,200 10,000| 5,600| 170 |23,000 13,000 4,900
PR 5 JEKHE  [17.1 [28.3 24,5 | 6.2 |19.0 | 50<| 50< | 50< 50<| 7.7 | 8.1 | 7.2 7.4 |7.6|6.8 86 52 8774|1125 07|1.4]1.4 <1| 3 [ <1|<1| 1 [10,000| 5,100 5,800 11,000]8,200| 14 | 230 79 | 700
H. 3 -
6 HEWDHE  [16.9 253 (23.2 | 9.5 [18.7 | 50<| 50<|50< 50<|7.1 ' 7.2 | 7.0 |7.8|7.3 |37 1.9 2.7 6.6|38|08 |25 | 1.1 0.7]1.3 <1[<1|<1|<1| 1 [11,000) 4,900 8,60015,000|10,000( 27 |4,900 1,700 | 330
§iT -t 7 @G [16.8 [25.5 22.9 | 9.7 |18.7 | 50<|50< | 50< 50<|7.2 | 7.1 | 7.1 | 7.6 |7.3|4.6 24 28 6.2 |4.1[07 1.8 1.3[1.2]1.2 <1| 1 |[<1|<1| 1 10,000 3,500 8,100 11,000|8,400| 280 |11,000 4,900 | 4,900
I 8 HAME  [17.3 256 23.2 [10.0 [19.0 [50<|50<| 37 50<|7.3 7.0 | 7.2 |74 |7.2|44 27 21 6.0 38|06 24 1.2|09]|13 <1[<1| 5 | <1| 2 |10,000] 4,900 10,000|14,000{10,000| 330 |13,000 3,300 | 3,300
SN 9 MG 173 235 221 9.4 |18.1 |50< | 50< | 50< 50<|7.3 7.1 7.0 73|72|46 1.8 3.2 52 (38 |1.4|1.4 1.8]34]20 <1| 1 | <1/ <1| 1 {10,000 8,100 6,200 10,000| 8,800
&)1 | 10 | #E04E  [16.5 234 22.1 | 9.1 |17.8 [50<| 33 50< 50<|7.3 7.1 6.8 7.2|7.1|51 1.6 33 64 |41|17 23 15| 18|18 <1|2 | <1/ <1| 1 |8,400 7,400 6,700|11,000| 8,500
BE I 11 AR [17.4 23.8 [22.6 |11.6 [18.9 | 50<| 50< | 50< | 50<|7.3 | 6.9 | 6.9 | 7.3 | 7.1 |44 1.7 3.7 55 [3.9]3.0 2524|4130 <1| 1 | <1|<1| 1 |9,5004,400 5,600 9,900| 7,400
I 12| BVEEE  [17.3 22.7 22,1 [10.5 [18.2 |50<| 48 50< 50<|7.5 7.3 7.1 7.2|73|77 52 51 6963|2706 07[20]|15 5 06 | 1 | 2 |4 [4200] 2300 3,600 8700|4,700
2 B il 17.2 256 1232 /88| - | - | - | - | - |74 /73|71 74| - |53/39 38 69| - [14]19 1.2 1.7] - 1 |2 1 1 | - 19600 4,800 6400]10,000( - - - N
S E 18.7 - 7.3 5.0 1.6 = 1 7,900 =
R HRRAE 28.3 50 < 8.1 8.8 4.1 - 6 15,000 23,000
i/ IME 5.9 33 6.8 1.6 <0.5 - <1 2,300 1
BT E (CHR) - - 7.0-8.3 2= - =8 - - -
WM | 13 [ 850D 55 [17.8 [23.6 [24.8 [ 9.7 [19.0 [50<| 41 [50<[50<[ 7.4 [6.8 7.2 [75][7.2[3.0 41 49 71][48 73182 52 48(64| 1 [ 4 [<1[<1| 2 [9,200] 5,100] 8100 12,000] 8,700
WEGEN | 14| HERE  [17.2 244 23.0 102 [18.7 |50< 50< | 50< 50<|7.4 7.1 | 7.1 |7.5|7.3|4.0 4.0 4.4 6.9 |49 59|66 3.9 16|45| 1 |3 | <1 <1| 1 [11,000 8,300 10,000 15,000|11,000
. A UIPEENR | 16 | OFHAE [16.3 23.4 23.5 | 9.5 |18.2 | 50< | 50< | 50< 50<|7.9 | 7.3 | 7.4 |7.5|75|68 4.6 4.6 7.5]|59 3.8149 2917|333 ]|<1]2 | <I|<1| 1 |14,000]{9,700] 12,000 16,000)13,000
Y’ﬂ? EIEREST 17.1 1238 238 /98| - | - | - | - | - |75 7.1 72|75| - |47 /43 47 12| - 5766 40 27| - |1 |3 1 1 - |11,000| 7,700/ 10,000| 14,000| -
17}
% A 18.6 = 7.3 5.2 = 4.7 2 11,000 =
i 4 KA 24.8 50 < 7.9 1.5 = 8.2 4 16,000 =
R/ IME 9.5 41 6.8 3.0 = 1.6 <1 5,100 =
XC1— (AL A AR ) 1R 5 2 B0 FH R () AN AUEIEN TR OFE 13003,

[ mssierue
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TH2EE MAIDKERERR FEKRER XH29LYKBHEREE

K KR FERE oH DO BOD COD N Cl % PNIT LS
w | TIA [N HuiA ©) (cm) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (MPN/100ml)
HLIE] 2| 3| | %ﬂj%z@ 30| S5l | 551 | 520m] | 45310 | H5410 | SEHs | H510E]| F520E | F530E | sEalmE | S %1@{%2@ 30| Al | L | 51| g52lml | 5531m] | G54lml | SEHs | H510El %zlilj%ﬁalil A SER| 51l | em | 53 } sam | LR | e Homl | 3l |
BREGHAE (M) Faisish - - 6.5-8.5 75= =2 - =25 - <1000
BRETALYE (BE) Nob,6 - - 6.5-8.5 5= =3 - =25 - <5000
BREGIEVE (CHAY) Noll,12 - - 6.5-8.5 5= =5 - <50 - -
1A 1] 1| HJIKAE [15.6 25.4 22,6 |11.3 [18.7 | 50<|50< 50<|50<|7.6 7.1 | 7.1 | 7.4[7.3|6.2 4.1 3.6 8.0 |55|0508]|0.5  <050.6 5 | <1|<1|<1]| 2 [11,000]2,900 9,500 14,000 9,600 14 |2,200 330 | 130
I | 2 Bit 17.0 [26.7 123.5 | 7.0 |18.6 | 50<| 50<| 50< 50<|8.4 | 7.4 | 7.2 | 7.8 |7.7(8.9 43 42 93 [6.7|1.0 <05 <05 <05|0.6 1 | <1|<1| 1 |1 [10,000f 3,400 9,000 14,0009,400| 4 | 130 @ 49 | 13
/J‘%KJ” 3 @Fﬁﬁ% 16.6 126.1 [24.1 | 9.8 [19.2 | 50<<| 50<<|50<<|50<<| 7.7 | 7.1 ' 7.2 |7.6|7.4 (6.3 3.1 3.5 7.3 |5.1]|<05 1.3 <05 <05[0.7 <1 4 1 <1 1 10,000{ 2,300 9,400 | 13,000| 8,900 11 2,300 700 230
4 =i 17.1 (26.4 (219 |11.6 |19.3 [50<| 33 50< 50<| 7.6 |7.0 7.2 |7.2[72(6.1 21 41 64 |47|08 7.1 08|07 |24 <1| 7 |4 |1 |3 |8400 180 7,000/ 9,200(5,600| 11 |7,900 17,000 330
e 5 WEKAE  [17.1 255 23.2 | 9.9 [18.9 |50<|50< | 50< | 50<| 7.7 | 7.3 | 6.9 | 7.5 |7.3|7.4 29 3.7 7.2|53[<05 0.7 0.6 <05 0.6 <1|<1| 1 | <1| 1 [11,000] 2,400 9,600 13,000(9,200| 11 2,300 230 | 170
H. 3 -

6 HEWDHE  [16.9 25.2 (22,5 |13.7 [19.6 | 50<| 50<|50< 50<| 7.8 ' 7.2 | 7.2 | 7.4 | 7.4 |10.0 6.2 4.2 6.5|6.8 |28 08|08 0.5|1.2 1 | <1|<1|<1|1 [11,000 3,600 10,000 13,000(9,600| 2 4,900 130 | 170
5T ek 7 fEFAE  [16.9 25.8 22.1 [11.0 [19.0 | 50<|50< | 50< 50<|7.3 | 7.1 | 6.8 7.3 |7.1|54 6.8 3.8 6.9 58|08 1.4/0.60.7|0.9 <1/ <1|<1|<1| 1 [10,000] 1,500 9,200 10,000 7,800| 6 |7,900 790 |1,700
I 8 HAME 175 255 221 [11.6 |19.2 | 50<| 50<| 50< | 50<| 7.6 | 6.9 | 7.2 | 7.3 | 7.3 |5.1 4.2 35 6.5|4.9 (0.7 0.8 0.6 | <05 0.6 <1|<1| <1/ <1| 1 |12,000 2,300/ 11,000{10,000{9,100] 21 |3,300 330 |1,300

SEA 9 BB HE  |15.6 [25.5 (17.5 (108 |17.4 | 29 |50<|50< 50<|7.0 | 7.1 | 7.5 /7.9|7.3|4.0 34 51 7.2[50[1.0 1.6 0.7]0.7]1.0 2 | 4 | <1|<1]| 2 |3,100 7,500 9,500 14,000| 8,600
&) | 10 | #E04%  [14.6 253 16.5 |10.5 |16.7 | 34 | 50< 50< 50<| 6.7 | 7.1 | 7.5 7.6 |7.2|6.1 3.7 54 7.6 57|18 1.3|0.7 07|11 2 | <1, <1|<1]| 1 |2900) 5400 9,20012,000| 7,600
BRI [ 11| AfCHE  [16.1 25.0 18.8 [11.5 [17.9 | 22 |50< 50< 50<| 6.9 | 6.8 | 7.5 | 7.9 | 7.3 6.7 8.7 50 7.6|58 (32|12 05|1.1|15 2 |6 | <1, 4 | 3 |1,800] 3,600]14,000|17,000| 9,300
e 12 FV9RE  [13.0 [24.7 17.4 115 |16.7 | 11 | 39 | 43 50<|6.6 | 7.0 7.4 |7.5|7.1|75 37 6.7 80|65 |<05 1.6]0.8]0.8]0.9 3 /10 |6 |3 |6 [1,300]1,100 10,000/ 13,000| 6,400
A [P fiE 16.2 1256 121.0 (109 | - | - | - | - | - |74 7.1 7.2 |75| - |66 4.0 44 74| - |12 16|06 |06 | - 2 |3 1 1 |- [75900]3000 9,800 12,000 - - - - | -
EEIE 18.4 = 7.3 5.6 1.0 = 2 8,400 =
R KB 26.7 50 < 8.4 10.0 7.1 = 10 17,000 17,000
e/ ME 7.0 11 6.6 2.1 <05 = <1 180 2
BrETALUE (CHAY) - - 7.0-8.3 2= - =38 - - -
ROUTIER | 13 [ 2D B KKG [23.0 (24.8 |20.8 [11.3 [20.0 | 50< | 50< | 50< | 50<| 7.9 | 7.0 | 7.1 | 7.4 | 7.3 | 4.0 | 3.7 | 5.0 | 7.5 | 5.1 88 58 53 4.1[6.0|2 |3 |<1|<1| 1 [7,600]3,000] 8,600/ 6000|6,300
BUEMEN | 14 | BERE (229 25.0 194 [12.8 [20.0 | 19 39 50< 50<|9.1 7.2 | 7.2 |8.1|7.9 |43 33 52 7.3]5.1 21 6.4 4324|8545 | 3 | 2 | <1]|12 |8,500] 2,700 10,000|17,000| 9,700
. APAVEER | 15 | OFBAE [21.6 24.9 19.1 11.6 [19.3 | 40 50< 50< 50<|8.9 7.3 7.3 |7.8|7.8|50 44 59 76|58 7.7 4.0 3.1 18|42 3 1 <1|<1| 1 |10,000]4,500|12,000 17,000|11,000
Y’ﬂ? EIEREST 22.5 1249 (198 [11.9| - | - | - | - | - |86 7.1 |72|78| - |45/39 54 75| - 13,54 42 28| - |17 2 1 1 - 19,000/ 3,400/ 10,000| 13,000{ -
17}
% S 19.8 = 7.7 5.3 = 6.2 5 9,100 =
i 4 e KAE 25.0 50 < 9.1 7.6 = 21 45 17,000 -
fie/IME 11.3 19 7.0 3.3 = 1.8 <1 2,700 -
¥Cl— (A A A PR EE) 1T D DD B () AN AUEIEN TR OFE 13003,
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